RSS! (k9] - )
o NERTE = SENL 20239 (A) | 20224(B) | 274 (A-B)

A 23,810,275 24,324,296 A514,021
21,715,193 22,626,925 £911,732
2ZFEDLS 15,501,809 19,955,437 74,453,628
26,111 24,781 1,330
27} 3 16,876 16,576 300
YA 5,618 5,618 0
1. A AL AFZ A33 5,618 5,618 0

PARRTAS RO R RS AR R 4,568

1) $98=% 210-01 |50,0009] X 8% x 28] = 800

2) Ak (g 500

71 7= 210-06 |160,00091 x 173 x 28] = 320

) =3} 210—06 90,0009 x 17 x28]= 180

3) dixw 21006 |14,0009 x 31 x 24 7+ x 23] = 168

4) 2peFelzr= 210-07 |700,000¢ x 4t = 2,800

5) &3 230-02 |15,0009 X107 x 23] = 300

(BT e e B = = | 210-01 |150,0009 x 79 = 1,050
AT T AT 10,488 10,188 300
1. AYFFdaduSEd 9,188 9,188 0

7h A A A 7,238

1) $98% 210-01 |50,0009 X 5% x 78] = 1,750

2) A (g 2,100

7h 718 210-06 |100,000¢ x 27 X 73] = 1,400

W) %3 210-06 |50,0009 % 27 x 78] = 700

3) g 210-06 14,0009 X 31 X 24| 7k X 73] = 538

4) 2peFel b= 210-07 |700,00091 x 2t x 23] = 2,800

v As - 7 v 210-01 |150,000¢ x 134 = 1,950
2. AT F AR B3 AF 1,300 1,000 300

7} AARA R w57 ) 210-01 |1,300,0009 x 19 = 1,300
2295 770 770 0
1 253 FAASARAR 770 770 0

7h WA AP A 770

1) $98=% 210-01 |50,0009 x 7%= 350




ﬂz' Apeuel 2= g 20239 (A) | 20224 (B)

2) A=A 2 210-01 |2,0009 x43%-= 86

3) ZAAFE (L) 250

71 7] 210-06 |160,000¢1 198 = 160

W) %3 210-06 |90,0009 x 1= 90

4) g 210-06 |14,0009 X 31} X 24| 7= 34
A} 6,235 6,205
T YA T 5,135 5,105
L AR S 458 1,290 1.290

R ONERE 1,200

1) $98% 210-01 15,0009 X 8% = 120

2) FAyd 210-06 |100,000¢ x 39 x 338] = 900

3) 393 230-02 |15,0009 x99 x 28] = 270
2L 520 520

7k w85 ¥ g 7t 520

1) FA5 210-06 |100,000¢ x 29 x 28] = 400

2) 9] 3 230-02 15,0009 x 8% = 120
3. AYJAGFFR 3,325 3,295

7h 2e AR 1,850

AR 210-01 50,0009 X 4%= 200

2) AESY 210-06 |40,00091 %67 x 53] = 1,200

3) 93 230-02 15,0009 X6 x53]= 450

L Te g A 1,475

R 210-01 |50,0009 % 2= 100

2) AESY 210-06 |40,0009 x5 x 58] = 1,000

3) 393 230-02 |15,0009 x5 x 58] = 375
AT FAAAEE 600 600
L A FddAazg A4 600 600

7} Ak A 8] 600

1) FA5g 210-06 |100,000€ x 17 x 338]= 300

2) 393 230—02 15,0009 x10% x 28] = 300
ZE2ARIALRT 500 500
1. 243 FAAUAR 500 500

AAeE — 2A LA} - EEAAAR 9




AR B e S S s S RS (F - 1Y)
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
7} S A A AL 18] 500
1) #FH5g 210—06 |100,0004¢l X 1% x 23] = 200
2) 8|3 230-02 |15,00091 X 107 x 23] = 300
A YE R 3,000 2,000 1,000
ZAYEX XY 3,000 2,000 1,000
1. AA=332Y9 3,000 2,000 1,000
7t AR EzIREA Y 240-01 |1,000,0009 x 3745 = 3,000
AL ER Y 934,832 1,035,614 A100,782
TSR LY 359,265 351,823 7,442
R= 2 B R PO | 351,115 343,673 7,442
1. 250 5H3ALTFAT 2,456 2,456 0
7} m& g A 2,456
1) ¢94= 210-01 |50,0009 X 13%= 650
2) A7 A2 210-01 |10,00049l X 16%+= 160
3) AAEE (YWD 1,000
7} 7] 8 210—06 |160,0009 X 17 x 43] = 640
) %3 210—-06 |90,000€ x 19 x 48] = 360
4) 7ZFA}FA8] 7 ) 210-06 |40,0009 % 17 x 48] = 160
5 d1x 210-06 |14,0009 x 3w x 2417+ x 43] = 336
6) o3 230-02 |15,0009 %10 = 150
2. 25 RETAHLIAF 1,802 1.802 0
AR 1,802
1) $94= 210-01 |50,0009 X 9%F= 450
2) A=A = 210-01 |10,00049 x 20% = 200
3) A (dah) 750
71 715 210-06 |160,000€ X 1 X 33] = 480
) =3} 210-06 90,0009 X1 x38]= 270
4) dixs 210—06 |14,00091 X 3vfj X 217k x 33] = 252
5) 393 230-02 |15,0009 %10 = 150
3. Yo R Z WAL Y 140,600 140,600 0
7F ol B 2 WAFI A H] 48,000
1) B 35,400
L - FOIREFERS - DFRHLEAY - AEHYLY - B LIA 9




718 AE45HIA
Apelu e A-REpS -1 Ay 20234 (A) | 20229 (B)
7H 1+5+ 110-03 |2,700,0009 x 129 = 32,400
W &3 s g 110-03 |150,0009 x 129 = 1,800
) x| 2sg 110-03 |100,0009 x 129 = 1,200
2) FElal® 110-03 [400,0009 x 129 = 4,800
3) A A k1] 210-15 |2,500,0009 x 1% = 2,500
4) H A 320-05 |2,234,0009 x 1% = 2,234
5) AthR 37| Aok 320-05 |27,060,00091 X 11.33%= 3,066
L G R WA A 9 92,600
1) ZHx 620-03 |47,000,0009 X 17} 5= 47,000
) o] # 620-03 |45,600,0009 x 17} = 45,600
4. 943‘0111_1\]'.\1_%@'%7‘]% 2,454 2,454
7} °J°1U1°ﬂ°11‘iiﬂ*}%§}iﬂ€§ 2,454
1) 98 210-01 |50,0009 X 6% = 300
2) 7R (L) 250
7} 7)1 & 210-06 |160,00091 % 1= 160
W) =3 210-06 |90,000€ x 1= 90
3) ZAAFA B A ) 210-06 |70,0009 x 19 = 70
1) dE 210-06 | 14,0009 x 3 X 24 7k= 84
5) Aol 210-07 |600,0009) x 1= 600
6) A& n 210-15 |20,0009 x 257 = 500
7) A1) 230-02 18,0009 x 25 = 200
8) 7+41H] 230-02 |3,0009x25% = &
9) ¥<3 230-02 |15,0009 x 251 = 375
5. dAARZZ ALY 161,148 140,746
7}, ol A8 210-13 1,000,000 x 507 = 50,000
. oA srsAlE 2 111,148
1) ol R EwARRIZIN| 90,798
7H 155 110-03 |2,500,0009 x 2 x 129 = 60,000
W) x| 2iseg 110-03 |100,00091 x 27 x 129 = 2,400
) AT ESY 110-03 |20,0004¢ x 21 X 25A]2k= 1,000
2}) Felelzta 110-03 |400,0009 x 21 X 129 = 9,600
ul) A Al 2kH AR 210-15 |2,600,0009 x 29 = 5,200




A S E=A= 2= < 20239 (A) | 20229 (B)
uh) g 2 210—-15 |300,000¢ x 2% =
2D B &+ 320-05 2,600,000 x 2% =
ob) ARV I 320-05 |30,000,0009 % 27 X 11.33%=
2) ZE I
71 AFAS 210-01 |200,000¢ x 2% =
W) 7 eI Y 210-12 17,0009 X 10% x 2004 =
th eI p= LY
(1) 99+ 210-01 |50,0009 X 13% % 23] =
(2) WA aE 210-01 30,0009 X 25% X 28] =
(3) g x=xdA= 210-07 |720,0009 X 1t}=
(4) 7H2N) 210-12 |3,0009 x 24 x 208] =
(5) Fol3 230-02 15,0009 %6 x113]=
6. FAJNANSEFA Y 20,000
7}, Aol A £ Mol of7)
1) 2538w 620—03 800,000 X 1074 m=
2) Zdu 620—03 800,000 x 57} 1=
3) 1= 620—03 1,000,000 x 17} =
. stz ol 7kl stol o} ]
1) *98= 210—01 |50,000¢ xX10%=
2) AAE (Y
7H 71 & 210—-06 | 160,0009 x 1% X 263] =
) =3} 210-06 90,0009 X 17 x 2638] =
7. }eGTFAAAY 3 3,215
7). et Ao 3
1) S98= 210-01 |50,0009 x13%=
2) AHEn) 210-01 |15,0009 x40 =
3) EATD (FHA) 210-06 |50,0009 x 2% =
4) AAE
7H 71 & 210-06 |40,0009 x 8% =
) %3z 210-06 |20,0009 x 8% =
5) 393 230-02 |15,0009x15%=




At & E=A= 2= < 2023d(A) | 20229 (B) | SH(A-B)

1) 220-01 |20,0009 x 583] = 1,160

8. AL SHALS 19,440 18,000 1,440
4 R A e e R | 18,000
1) $98=% 210-01 |50,0009 X 20%= 1,000
2) Ak (dRh 210-06 |40,0009 x 27 x 217k x 953] = 15,200
3) Y& = 210-15 |1,2009 X 3007 x 53] = 1,800
. AT A 9 A3 1,440
1) #F+d 210—06 |100,000¢ x 6% x 23] = 1,200
2) 393 230-02 |15,0009 x84 x 28] = 240

SAE AN R F 8,150 8,150 0

1. AbS A G m A SR 5 8,150 8,150 0
7h. AFE] A o st AR 7,750
1) A2 A = 210-01 |30,000¢ x 190%-= 5,700
2) AESFT 210—06 |40,0009 X107 x 43] = 1,600
3) 893 230-02 |15,0009 x 109 x 38| = 450
L ARSI A S SR R A 400
1) $98=% 210-01 |50,0009 x 6%= 300
2) AR (L) 210-06 |100,00091 x 1= 100

64,006 13,706 50,300

ANA 8,086 7,786 300

1. 3 ATENAA 4 8,086 7,786 300
7F 250 AFEANAYE ] A8 3,650
1) $98= 210-01 |50,0009 x 3%= 150
2) AEASLHTEA 240-01 |700,0009 x 5718 = 3,500
U S dsANavE] Y 1,600
1) $98=% 210-01 |50,0009 x 2% x 118] = 1,100
2) A=A = 210-01 |10,0009l X 5%-x 73] = 350
3) 393 230-02 |15,0009 x 10 = 150
th WA RS AR 2,836
1) $98=% 210-01 |50,0009 X 6% x 58] = 1,500
2) A=A = 210-01 |10,0009 X 104 x 43]= 400
3) Ak (AR 600




719 - ARl SA 9y (ko] - 2 <)
] A o H
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
71 7] 210-06 |100,0009 X 17 x 48] = 400
W) z7 210-06 |50,0009 x 1% x 43] = 200
4) 98 210-06 | 14,0009 x 3 X 227k x 48] = 336
BT 55,920 5,920 50,000
1. 7|2 X4 55,920 5,920 50,000
7h S A A2 50,000
D (25)712s8F¢Ad 26,092
7hH AR F AT A 3,704
(1) $94= 210-01 | 20,0009 x 207 = 400
(2) A=A 2 210-01 |20,0009 x 209 = 400
(3) Ak (Wb 1,500
b 71 210-06 |160,0009) x 27 x 38] = 960
) =3 210-06 |90,000¢ x 27 x 33| = 540
4) 918 210—06 14,0009 X 3v X 213k x 21 X 38] = 504
(5) Al A= 210-07 |500,0009) x 1= 500
(6) A3 210-15 |20,0009 x 207 = 400
W) A A ES A 4,500
(1) A3 240-01 |3,000,000€ x 17}% = 3,000
(2) Folg 240-01 1,500,0009 x 174¥ = 1,500
) GSUZAGA s EA A 10,388
(1) Ak 210-01 |300,0009 x5 = 1,500
(2) 241 210-01 |70,0009 x4 x303]= 8,400
(3) An) 210-12 |8,0009 x4 x 43]= 128
(4) 7+ 210-12 |3,000€ x4 x 303] = 360
eh) dE" T 1,200
(1) 71%= 210-06 | 40,0009 x 107 x 23] = 800
(2) =3} 210-06 |20,00091 x 107 x 23] = 400
nh) 72 YA EAGA 6,300
(1) Z3AHH) 210-06 |35,000€ X 6017k 3% = 6,300
2) (F)71 x4 & A 13,918
7hH AR F AT AE 3,474
1) $98= 210-01 |20,00091 X 157 = 300
WE - FOlREFERS - A SGREAY - APAGURI - g FAA L




7188 MELEYIA
bR E R OE R (7 : A 4)
(e} =]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
(2) A=A = 210-01 |18,0009¥ x15¢= 270
(3) Ak (R 1,500
op 71& 210—06 160,000 x 27 x 38| = 960
b =3 210-06 90,0009 x 2% x 33]= 540
4) 98 210-06 | 14,0009 x 31 X 247k x 27 X 33| = 504
(5) AFerolxba 210-07 500,000 % 1t} = 500
(6) A&n) 210-15 |20,0009 x 207 = 400
W AR m A ES A 4,500
(1) A3 240-01 13,000,000 x 170 = 3,000
(2) Zo}g 240-01 |1,500,000€9 x 1€ = 1,500
oh A A A ol e A €l 5,344
(1) Akn) 210-01 |300,0009 x 37 = 900
(2) WS 210-01 70,0009 x 2% x308] = 4,200
(3) A1) 210-12 |8,000€ x 2% x 43 = 64
(4) 7F21n] 210—12 |3,0009 x 29 x308]= 180
2 Y s 600
(1) 7= 210-06 |40,0009 x5 x 23] = 400
(2) =3} 210-06 |20,0009 %59 x23]= 200
3) =m] 9,990
7H 8= 210—01 50,0009 X 5F x208] = 5,000
) 2 Z 2l Az 210-01 |1,0009 x990/ = 990
th 7]z st A g wAatol ] 4,000
(1) ) 220-01 20,0009 x 27 X 608] = 2,400
(2) T 220—01 40,0009 x 2% x208] = 1,600
ERER L 5,920
IDIEMR e A | 5,920
7H 8= 210-01 50,0009 X 3F X 63| = 900
) 25 A = 210-01 |10,0009 x 22%= 220
th) 2538w 620-03 |800,0009 X 67 iL= 4,800
Astul o 4,100 3,088 1,012
gAY 4,100 3,088 1,012
1. A8 4,100 3,088 1,012
T - folRRFERS - AFLHEEAY - FUAT - AFF A




Z1#E AEdEWSA
713 AN LA AR (e ue
(e} =]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
7b 2o S g ALEY 1,040
1) $odg= 210-01 |50,0009 X 8% x 23] = 800
2) AE"FT 240
1 7B 210-06 40,0009 % 2% x 23] = 160
W z3 210-06 |20,0009 x 27 x 28] = 80
e uS gy 000
1) $9ex 210-01 |50,000¢ x 6% x 23] = 600
2) AN TY 000
71 7B 210-06 |40,0009 x 39 x 23] = 240
W) 23} 210-06 |20,00091 x 37 x 23] = 120
ok AE AR A 2100
1) S8 210-01 |50,0009 x 2% x 23] = 200
2) AR (AR 600
b 75 210—06 |100,000¢ x 27 x 23] = 400
W) x3t 210-06 |50,0009 x 214 x 23] = 200
3) & 9] 3 230-02 |15,0009 x 107 x 23] = 300
4) AEATLHELEA S 240-01 |500,0009 x 27 €= 1,000
Sotms 33,460 33,460
ol L 9,460 9,460
1. X975 33 L 3,100 3,100
7h A WA 2,336
1) $9¢= 210-01 |50,0009 x 18%= 900
2) 2p A= 210-01 |10,0009 x 205 = 200
3) ZAAHEE (L) 600
b 7] E 210—06 |100,0009 X 17 x 43]= 400
W) =3 210-06 |50,0009 x 1 x 43] = 200
4) 918 210-06 |14,000¢ x 31 X 2417k x 48] = 336
5) 93 230-02 |15,0009 x 207 = 300
A A A E 7ol
1) A A= 210-01 |4,0009 X 90%-= 360
2) A (b 250
1) 7B 210-06 |160,000¢1 % 1% = 160
WE = FolBlzT S - nFSFdEAd - Fohud — fotu Y




7188 AEdE5WAA
71 AR ERd A9 (9] 4
] A o H
gopzg 22| B3| 2% Aol %A% Az 20234 (A) | 2022d(B) | F7HA-B)
W =3 210-06 |90,0009 x 14 = 90
3) ZAAFA B AN 210-06 |70,0009x 1% = 70
4) 918 210-06 |14,0009) x 37 x 24 7k= 84
2. X d2=AAd 6,360 6,360 0
7b A A A gre] &gk 6,360
1) ¢98% 210-01 |50,0009 x 96% = 4,800
2) AH) 210-12 |8,0009 X150 = 1,200
3) ¥93) 230-02 |15,0009 x 127 x 28] = 360
AT I B X 24,000 24,000 0
L AT g4 24,000 24,000 0
7} @A =1 620—03 19,600,000 x 17]€= 9,600
B 620-03 |1,440,0009 x 107} 1= 14,400
ETns 98,354 131,519 A33,165
ELuSed 98,354 131,519 A33,165
1. 55252999589 800 800 0
7} AA e 210-06 |100,0009 x 27 x 43]= 800
. EST TSR AAE LY 97,554 130,719 A33,165
7}, S A) QA &) 97,554
1) A3 711 1,500
7H AF e 210-06 |40,0009 x 2 x 153]= 1,200
W) AAFA T 210-15 50,0009 x 23] = 100
h AAFE T4 210—15 |200,000€ x13]= 200
2) 558 EA Y 23,914
70 Ak (A 12,740
(1) 71 210-06 |50,0009 x 1828]= 9,100
(2) =3 210-06 |20,0009 x 1823]= 3.640
W) gz 210-06 |14,00091 x 161= 224
b 2R E 210-07 [500,0009 x 103]= 5,000
2}) 21H) 210-12 |8,0009 X35 x 193]= 5,320
nh) kA H] 210-12 |3,0009 X 35% X 63]= 630
3) L7 AN 20,800
7h) kel Al S 3,000

10




718 AEdEHIA
24 AR A 2 (e
(e} =]

gopzg 22| B3| 2% Aol %A% Az 20234 (A) | 2022d(B) | F7HA-B)

(1) $938= 210-01 |50,000€ X 6% x 103] = 3,000

b AzAY 1080

(1) $98= 210-01 |50,0009 X 16%= 800

(2) A=) 210-12 20,0009 x 259 x 203 = 10,000

oh AEE7) T 7 7,000

(1) Solg=x 210-01 |50,0009 x 25% x 23] = 2,500

OEEL] 210-01 |50,00091 x 45 x 23] = 4,500

4) _,__u__g'_ ] <] 3,270

71 %og%% 210-01 |50,0009 x 5% x 93] = 2,250

W) A=) 210-12 |15,0009 %179 x 43]= 1,020

5) 7F5A4 2000

1 $ALE 210-01 |50,0009 X 26%= 1,300

b A 700

(1) 7= 210-06 (50,0009 X 103]= 500

(2) =7} 210-06 |20,000€l X 108] = 200

6) THuFA 4,500

70 oA N A S 1,000

(1) g% 210-01 |50,0009 x 207 = 1,000

b #3ag e 0%

(1) $9g= 210-01 |50,0009 x 10 X 63] = 3,000

o A eE R o0

(1) S9g= 210-01 |50,000€ X 107= 500

7) ARk 7,780

71 938 210-01 |50,000€ X 2% x 103] = 1,000

W) A47]6-4 e 210-07 |50,0009 x 128 = 600

th 7134 7] 9n o A ek 210-07 |440,0009 x12¢= 5,280

CINIPAPEE-IPARE 210-09 |450,0009 x 23] = 900

8) =ujoin) 220-01 |20,00091 x 4% x 1359 = 10,800

9) AP FH Q-7 w) 990

71 AE]$-9)E 9] 3] 230-02 |15,0009 X 67 x 43| = 360

W) ks 71 o) 3 230-02 |15,00091 x 38 x 43 = 180

o SFugYgsds 230-02 |15,0009 X 6% X 43]= 360

PLE - FolETTUS - AFHFEEAN - 5FLE - SFUHLY

11




AFAH S -5 e 20239 (A) | 20229 (B) | TH(A-B)
2} EF S AT 230-02 |3,0009 %107 x38] = 90
10) ]F 4] ] 22,000
7hH BZF37]7) 430-01 |500,000¢) x 2% = 1,000
) oSt 430-01 21,000,0009 x 1% = 21,000
A TS 3,780 3,780 0
A LS9 3,780 3,780 0
 FARE7BA L 8,780 3,780 0
7t A D& 3,780
1) S98=% 210-01 |50,0009 X 19F x 28] = 1,900
2) AT (E9AR) 700
7hH 71 & 210-06 30,0009 x 147 = 420
W) 23 210—06 20,0009 <147 = 280
3) ZFARAH] 7 1) 210-06 20,0009 x 147 = 280
1) o3 230-02 |15,0009 X 157 x 43]= 900
20,714 20,444 270
MNEsnsed 17,000 16,970 30
1. A=sx2SX4d 17,000 16,970 30
7k @87 @A 2714 15,000
1) EE2nS8A43) 1,800
7hH Lo e= 210-01 |50,0009 x 4% = 200
) AEASELEAAY 240—01 |800,000¢ x271&= 1,600
2) =T A1 210-01 [15,0009 x 1757 x 23] = 5,250
3) 5T A9 210-01 |15,000€9 X 1757 x 23] = 5,250
4) EAWEFAGL D 2,700
7H 8= 210-01 50,0009 X 10 % 23] = 1,000
) AFsA = 210-01 |11,0009x10¢= 110
oh A (AR 600
(1) 7)1 & 210-06 |100,00091 x 17 x 48] = 400
2) =¥ 210-06 50,0009 x 1% x43]= 200
2 9 g 210-06 |10,0009 x 3v] x 2417+ x 43] = 240
uh) o) 230—02 15,0009 x 257 x 28] = 750
T = s eavg A R R 2,000

o

- EARE - EAESESE

12




At & E=A= =gl 20239 (A) | 20229 (B) (A-B)

1) St R T|ALG A Y 240—01 |1,000,0009 x 2718 = 2,000

| 3,714 3,474 240

R EMTIEEA Y 3,714 3,474 240
7} Solex 210-01 50,0009 x 5% x 33| = 750
L ZEAEE (A 1,350
1) 71& 210—-06 | 100,000¢ x 3% X 33]= 900
2) =3} 210—-06 |50,0009 X 37 x 33| = 450
o}, ZFARA B A 1) 210-06 10,0009 X 3™ X 37 .= 90
g das 210-06 | 14,0009 x 31} X 2] k= 84
o}, 4=3] %] ¢l o H) 220-01 20,0009 x 21 X 303] = 1,200
v}, & 2] 3 230-02 15,0009 %16 = 240

197,313 330,430 A133,117

dersds 160,113 295,680 A135,567

1. dFA ST HFEZZ 18- 55,000 55,000 0
7F W EA Ad s o] 5k ekt 210—-15 |1,833,330€¥ %309 = 55,000

2 EWMIgETZ ;WL 100,113 100,960 A847
7k Ak m P A7) 7,240
1) $993F 210-01 50,0009 x 4% = 200
2) A (4Rh 5,040
7hH 71 & 210-06 50,0009 %12 X 63]= 3,600
) z3 210-06 |20,000¢1 %127 x63] = 1,440
3) 7F21H] 210-12 12,0009 x 2507 X 43] = 2,000
L sl sAdgd s e 22,400
1) ekl 210-07 500,0009 X 2t} X 83] = 8,000
2) & & 210-15 10,0009 x 180 x 83]= 14,400
L= S A A g B st 45,000
1) x5stn 620—03 |5,000,0009 x 17 m= 5,000
2) T 620—03 [40,000,0009 X 17 = 40,000
o ASed AT 19 11,760
1) ZAE (dHh) 11,760
7H 7E 210-06 50,0009 x 144 x123]= 8,400
W) 3 210-06 |20,0009 X147 x123]= 3,360

13




71987 AP A w5 H 9 (3] - H )
2] =0 [$) H
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
vh ASEG AT 1,543
1) $9e= 210-01 |50,0009 x 10%= 500
2) Ak (g 500
7h 7)1 E 210-06 |160,000¢ 1 x 23] = 320
W) x¥ 210-06 |90,0009 X 17 x 28] = 180
3) 91% 210-06 | 14,0009 X 30 X 2417k X 28] = 168
4) 393 230-02 |15,0009 x 257 = 375
v, o5 w523 54 5,000
1) oAAETGAY 620-03 |5,000,0009 X 17} 1= 5,000
Al A o ol <2 5 o) Al - 270
1) ¥9]3 230-02 |15,0009 x 94 x 28] = 270
of. w3l =Ed 600
1) B39 210-01 10,0009 x 607 = 600
At Froprb=5ot 3] 6,300
1) $9e= 210-01 |50,0009 x 67] .= 300
2) Tk 210-13 |1,000,000¢ x 67§ .= 6,000
3. -l g7 dBAFR 5,000 5,000 0
7h. o oAt 5,000
D AFHA 210-15 |500,0009 x 107} = 5,000
BEASES 37,200 34,750 2,450
1. AZ A2 A2 3 5,500 4,900 600
7h A= Ad A S 3 5,500
1) A3 310-01 |100,0009 x15% = 1,500
2) T¥ 1] 4,000
b 2588w 620-03 |2,000,0009 x 17} 1= 2,000
W) 8w 620-03 |2,000,000¢ X 1 7] .= 2,000
2. 71eA S 3] 14,200 13,950 250
7h. w57 of 3 3,800
1) $98= 210-01 |50,000€ X 20%= 1,000
2) AFEn]| 210-01 10,0009 x 907 = 900
3) Aot 210-06 |40,000¢ x 257 = 1,000
4) 7r211) 210-12 |3,0009 X300 = 900
WA - fFold2FFus — A5t sAd - SHEEANY - 4EAKEE
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AR B e S S s S RS (k9] - e
o 1=]
gopzg 22| B3| 2% NERTE = SENL 20239 (A) | 20224(B) | 274 (A-B)
L wS kel ol 3 9,950
1) =733 4,460
M eI EE 210-01 |50,0009 x 30% = 1,500
W) 2 ae 210-07 |500,0009 x 1th x 28] = 1,000
t}) Zukn) 210-12 |50,0009 x 207 x 1= 1,000
2}) 21H] 210-12 |8,000€ x 207 x 63] = 960
2) S AZ=Z )3 3,300
1 AEA R 210-07 |500,0009 x 1t} X 6.5] = 3,000
) 7h21H) 210-12 |3,0009 % 1007 = 300
3) WA S 3] 2,190
7hH 9 8% 210—01 |50,0009 x 7%= 350
) A 210-01 |60,0009 x 209 = 1,200
t}) An 230-02 |8,0009 X 20 x 48] = 640
L= e o e 450
1) g 210-01 |90,000€l x5% = 450
3. SHFTELY 17,500 15,900 1,600
7h ALY 17,500
1) %8t 62003 |500,000¢l x 207 = 10,000
2) =8 62003 |500,0009¢1 X 15 = 7,500
S PV ES PR 88,840 72,364 16,476
R R ES SAR=PA ] 7,000 2,224 4,776
1. 3P AF TS AR 7,000 2,224 4,776
7h. SR QA 1] 3] - 7,000
) ZEHAeY 4,000
7h %3t 62003 |4,000,0009= 4,000
2) FuFHAEEY 3,000
7h %3t 620-03 |3,000,0009= 3,000
A EH Y 7S 22,000 17,408 4,592
1. FRZH o AuR = 22,000 17,408 4,592
7h. st E oA 1,034
1) $98= 210-01 |50,0009 x 3% = 150
2) A EA = 210-01 |5,0009 X 60%-= 300

WS - ol EFENS - RRASHEAY - SYABAE — ST ag 15




Z1#E AEdEWSA
i B e R S A (el - de)
Z (e} =]
Bopnm 3 Zj ?}g jg Apeluyel =% A& 20239 (A) | 2022d(B) | ZZ(A-B)
3) Ak (R 250
7} 7B 210-06 |160,0009 x 1% = 160
) =3 210-06 (90,0009 %1% = 90
4) ZFAAFA N AN 210-06 |70,000€ x 1= 70
5 918 210-06 |14,0009 x 37 x 2A] 7k= 84
6) 323 230-02 15,0009 x 12 = 180
L ORI R e 1,300
1) $94% 210-01 50,0009 x 20% = 1,000
2) 393 230-02 |15,0009 X204 = 300
e EEEEREE R 19,666
1) £98= 210-01 |50,000¢ x 12F x 28] = 1,200
2) &= 210-01 |150,000¢ X 3A13Ex108] = 4,500
3) Ak (LR 340
7hH 71E 210-06 |160,0009 x 1= 160
W) %3 210-06 |90,000¢1 X 178 x 2A] 7k= 180
4) 97 210-06 |14,0009 x 37 x 3] 7k= 126
5) M+ 12,000
7h 7= 210-06 |100,000¢ x 8 x103]= 8,000
W) =3 210-06 |50,000¢ x 8% x103]= 4,000
6) Al dolxtE 210-07 |300,000¢ x 28] = 600
7) g2l 3 230-02 |15,0009 x 127 x 53] = 900
SAdEET 58,100 50,920 7,180
1. §(WEE) Z2AE X & 58,100 50,920 7.180
7F AEA Rl g o n) 220—01 20,0009 x 3% x808] = 4,800
U, 903 41,300
1) £98= 210-01 |50,000¢ x 28F x 53] = 7,000
2) AEQlE A 210-01 |150,0009 x 37 x 28] = 900
3) T S-A]H) 210-02 |300,000¥x12¢= 3,600
4) 37 7S] 210-12 |1,100,0009¥ x103]= 11,000
5) AH] 210-12 |8,000€ x 407 x 58] = 1,600
6) 7+21H] 210-12 |3,0009 X100 x 338] = 900
7) ¥ H A 210-15 |300,000¢ x 29 x 28] = 1,200
A - Fod 2T uS - AFSFEEAY - A RAE - FAYE ST 16




718 AE A5 A
)
A S E=A= 2= < 20239 (A) | 20229 (B) (A-B)

]) A AAF+ 210—15 |300,000¢ x 23] = 600
9) A A An 210-15 |300,00091 x 158 = 4,500
10) Ag X 2 A m] 210—15 100,000 x 107 x103] = 10,000
L= R = T TR Sl s 12,000
1) <=3] wAFA 1] 210—15 |100,000¢ x 3= 300
2) =3 o9n 220-01 20,0009 X 3% X 1653 = 9,900
3) 34 240-01 |50,0009x3% x12¢= 1,800

g 1,740 1,812 AT2

B QA ) 1,740 1,812 AT2
7h, shAd w5 1,740
1) S98=% 210-01 |18,0009 x58% = 1,044
2) A= 210-15 |4,0009 x589 = 232
3) A1) 230-02 8,0004¢ X587 = 464

65,000 75,000 210,000

BT S 65,000 75,000 A10,000

AZAZGEZ ALY 65,000 75,000 A10,000
7h St 2 A A w5 A 45,000
1) =253t 620-03 2,000,0009 x 137 .= 26,000
2) e u 620—03 900,000 x 107} 7= 9,000
3) A5 stw 10,000
7H & 620—03 2,250,000 x 47} = 9,000
h) A 620—10 1,000,000 x 17} = 1,000
U EESTeYuAd 8,000
1) 258w (Z54g%9) 620—03 |3,000,000¢ x 274 0.= 6,000
2) =8k (W33 9-9) 620—03 2,000,000 x 17} = 2,000
o A2 A w2 10,000
1) £98=% 210-01 |50,0009 X 4% x1038] = 2,000
2) A &ln 210-15 100,0009 X 5% X108 = 5,000
3) AR (YR 3,000
7H 71E 210-06 [100,0009 x 27 x103]= 2,000
)z 210—06 |50,0009 X 27 X 103] = 1,000
gt wdds 2,000

17




Bopmy A | ®A AR PRSI == o 20239 (A) | 20224(B) | E7(A-B)
R I o I & K T T - - o
1) $98* 210-01 |50,0009l X 9% x 23] = 900
2) ZAAER (L) 500
71 7] 210-06 |160,000¢1 2% = 320
W) %3 210-06 |90,0009 x 2= 180
3) &< 3 230-02 15,0009 X 207 x 23] = 600
AFEX 849,109 685,948 163,161
WisstydEE g 452,483 464,522 212,039
W7} 5 8t 7 9% 450,811 463,050 212,239
1. 93834 ¢ 363,881 26,220 337,661
7b 28 A D (Y E$9) 210-13 35,0004 X507 X 63t x 30.6757F= 322,095
Lh o] A AR EHE AR 566
1) $ojg= 210-01 |50,0009 % 7%= 350
2) ZAAER (L) 90
7h 718 210-06 50,0009l X 17 = 50
W) 23} 210-06 20,0009 X 24| k= 40
3) dus 210-06 | 14,000 X 3] x 34| 7k= 126
o} Wy e pe-oz 40,000
1) 258w 620-03 |2,666,6009 x 127) 3= 32,000
2) F8ha 620-03 |1,333,3009 x 67} L= 8,000
2h St 9 A4 3 800
1) $98= 210-01 |50,0004¢] x 8% x 23] = 800
o WSt g 0] 3] 420
1) 93 230-02 [15,0009 X147 x 23] = 420
2. 93} Fn} S8t w A <4 84,800 433,200 £348,400
R e A 210-13 |13,933,300€ x 67§71 ¢= 83,600
. SIE71 A 1,200
1) $ojg= 210-01 |50,0009l X 2 x 33| = 300
2) A 900
7H 7E 210-06 40,0009 x5 X 33]= 600
) 2¥ 210-06 |20,0009 X 57 x 38 = 300
3. BHFAAAH G AL 2,130 3,630 21,500
7F I H A 2,130

o) o)
SR - YA

18




19

AHA A% )
A 5 A-REpS -1 Ao 2023 (A) | 20229 (B) (A-B)
A+ c o " -

1) 9% 210-01 50,0009 x 2% x 23] = 200

2) AAE 210-06 40,000 x 3% x 23] = 240

3) =rofu] 970

7h 3 220-01 |20,0009 1% x 133]= 260

) T 220-01 40,0009 %19 x93]= 360

hH 9] 220-01 |70,0009 X1 x58]= 350

4) &3 230-02 |15,00091x 167 x 38]= 720
ZE2g499 1,672 1,472 200
l.E2zg 789 1,672 1,472 200

eSS A 1,672

1) $99= 210-01 |50,0009 x 2% % 23] = 200

2) At (L) 500

7h 718 210-06 160,000 x 1% x 28] = 320

) =3} 210—06 90,0009 x 17 x28]= 180

3) Y= 210-06 |14,0009¢ X 37 x 3A| 7k x 23] = 252

4) Q+A W SH| 210-15 20,0009 x 20% = 400

5) 214 230-02 |8,0009l X207 x 23] = 320
kA= X s b B 320,000 180,000 140,000
ol&daaSaA 3} 320,000 180,000 140,000
L. solELS 140,000 0 140,000

7}, mpol &l 60,000

1) e 210-01 |500,0009 X 40%- 2= 20,000

2) L34 210-01 |50,0009 x374%= 18,700

3) A} 900

71 7B 210—06 |100,000¢ x 2% x 38| = 600

W) =3 210-06 |50,000¢ x 2% x 33] = 300

4) A2 210-07 2,000,000¢ x 14 = 2,000

5) A=A 210-07 |400,000€ x 10t)= 4,000

6) A1) 210-12 |8,0009 % 1,200 = 9,600

7) 7FAN) 210-12 |3,000€ x1,200% = 3.600

8) ¥ 9] 3 230-02 |15,0009 %207 x 43]= 1,200

L e gk 34,000

S - BSRA — FolEduun SN - solEdungd




713y AeE SRS AL (k9] : x4
2 o 1=]

gopzg 22| B3| 2% Aol %A ENE 20234 (A) | 2022d(B) | F7HA-B)

1) Aefsid-o 21,000

7h 58w 620-03 10,000,000¢ x 27} ;.= 20,000

) Fskw 620—03 |1,000,000¢ x1743= 1,000

2) B A g AT 1,600

7 o g+ 210-01 [50,0009 x 4% x 23] = 400

) A (AR 600

(1) 7= 210—06 |100,000€ x 2% x 28] = 400

(2) %3} 210-06 |50,0009 x 27 x 23] = 200

) &3 230-02 15,0009 X 207 x 23] = 600

3) BeHdgeE 1,400

7H 2 ars 210-07 700,0009 x 2t} = 1,400

4) A A 10,000

7 o 8= 210-01 |50,0009 x63%F= 3,150

) Ak (dub) 6,250

(1) 7)1 & 210—-06 | 160,0009 X 1% X 2538 = 4,000

2) =3 210-06 90,0009 x 1§ X 253] = 2,250

o 393 230-02 15,0009 X 207 x 23] = 600

o} AT ER-9 10,000

1) *98= 210-01 |50,000¢ X 36% X 23] = 3,600

2) Ak (g 600

7h 7| E 210-06 |100,000¢ 21 x 23] = 400

W) 3 210-06 50,0009 x 21 X 23] = 200

3) XA aE 210—-07 | 700,000¢ x 2t} X 23] = 2,800

4) A1) 210-12 18,0009 X 607 x 52 = 2,400

5) 893 230-02 15,0009 % 20 x 23] = 600

gt et EAd S5 5,000

1) $99% 210-01 |50,000€ x100%= 5,000

ub. Zejv] 2 11,000

1) $99%F 210-01 50,0009 x 83%F= 4,150

2) ZFAr (YR 6,250

7H 7E 210-06 |160,0009 x 1 X 253]= 4,000

W) 3 210-06 90,0009 X 1% X 253] = 2,250

LE - FOIREFERS - WA - FolEFaR KA AN - FolEtuu ST st 90




7|88 &5 9A
7199 - AE R ek w %A 9 (&9l - 2D
o)
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
3) 7F2n) 210—12 |3,000€ X207 x103] = 600
3] e e A Etein= P R 20,000
1) 258w 62003 |10,000,000¢ x 27] .= 20,000
2. S S A e A FA 3} 180,000 180,000 0
7t mhE NS A A TS 14,000
D rhen S A TS 9,600
7h A wdEoty 5,500
(1) srad A€ 240-01 |1,100,0009 x 57}l = 5,500
W) wdggFikstd s 4,100
(1) 938 210-01 |50,0009 x 11%= 550
(2) ZFAbr (4 600
op 71 210-06 100,000 x 2% x 28] = 400
b %3 210-06 |50,0009 x 278 x 28] = 200
(3) A= 210-07 |200,000¢1 x 18] = 200
(4) A= E 210-07 |700,000¢ x 2t]= 1,400
(5) 23 230—-02 |15,0009 x 459 x 28] = 1,350
2) AHEEES] 4,400
7h $a3ex 210—-01 |50,000¢ x 14% x 48] = 2,800
W) #8 A = 210-01 |50,00091 X 5% x43]= 1,000
oh) &9l 3 230-02 |15,0009 x 20 x 23] = 600
. A S st A A A 117,800
D kSS9 55,000
7h) wh& st a w S v - 40,000
(1) 5w 620-03 [4,000,000¢ X 67] 1= 24,000
(2) =38 620-03 |4,000,0009 x 47} 1= 16,000
) vh&eha w5 g 5,000
(1) 258w 620-03 |3,000,0009 x 17} 1= 3,000
(2) =38 620-03 |2,000,000¢ x 17} .= 2,000
th) w2 10,000
1) =5stw 620—03 |1,000,0009 x 67 1= 6,000
(2) &8 62003 |1,000,000¢ x 47} 1= 4,000
2) ¥EUHFHELY 34,500
A% - GolREFERS - AHHA - FolEGLL L AN — o E L F BT

21




At & LA & A= 20234 (A) | 20224 (B)
7 AT wS A 4,500
(1) LJE=Z 210-01 |50,0009 x 12%= 600
(2) ez 210-07 700,000¢ x 2t} = 1,400
(3) x4 620-03 500,0009 X571 4= 2,500
W) 2583 Ew s 10,000
(1) L9 E= 210-01 50,0009 x 20%F= 1,000
(2) Al xta 210-07 [500,0009 x 4t} = 2,000
(3) 2538w 620-03 700,0009 x107) 1= 7,000
o) Fehu g us A 20,000
(1) S9E= 210-01 50,0009 x 21%F= 1,050
(2) A (YRh 600
op 71& 210-06 | 100,0009 x 1% X 43]= 400
) =3 210-06 50,0009 x 1 X 43]= 200
(3) A&n 210-15 80,0009 X 108+ X 48] = 3,200
(4) 893 230-02 |15,0009 x10% = 150
(5) Tt 620—03 |3,750,0009 x 47 2= 15,000
3) RS FotE Y 14,000
7h 258w 620—03 |1,000,000¢ x 97 e = 9,000
W) Zdha 620—03 |1,000,0009 X578 = 5,000
4) R R FotE Y (Mg =Fet-g) 5,000
7H TAFY 210-01 10,0009 x10% X578 x 53] = 2,500
) 2pg Azt 210-01 |5,0009 x 84 %= 420
th) Ak (LR 210-06 |40,0009 x5 x 83| = 1,600
zh) & 93 230—02 |15,0009 X 16™ x 23] = 480
5) 2% st 3shdntol A s e} 5.000
7H 2 s 210-07 430,000¢ x 8¢fj= 3,440
) 7-211] 210-12 |3,0009 %1207 = 360
o A& n) 210-15 10,0009 X120 = 1,200
6) Abgl A oSt T KA 4,300
71 Bz A 210-01 |30,0009 x130¢= 3,900
}) L9 EE 210-01 |50,0009 x8F= 400
o} A 9Abe) S AR 48,200

22




718 AEFEWSA
AR A B R S ) ks R R (k9] - A 9)
2 o 1=]
Hollnn 3;‘“ ?};3 fg AFA S A= AEU Y 2023 (A) | 20229 (B) | F#(A-B)
1) s&r8tAd 3,700
7H 9= 210-01 [50,0009 X 13%F x 23] = 1,300
) Ak (AR 600
(1) 71= 210-06 |100,0009 x 17 x 43]= 400
(2) 23 210-06 |50,0009 X 17 x 48] = 200
) 724 210—-12 |3,0009 X509 x 28] = 300
Zh) A3 n) 210—-15 9,000 x50 x 28] = 900
ul) 3 9] 3 230—-02 |15,00091 %207 x 23] = 600
2) At dnp&AF 14,000
7H A& A 2+ 210-01 |5,0009 X 40%-= 200
) A3 n) 210-15 |15,0009 X 207 X 443]= 13,200
) 9] 3 230—-02 |15,0009 x 207 x 23] = 600
3) AruAxA S G A 30,500
7hH Lo 8= 210-01 |50,000¢ x370%= 18,500
W) AR (4R 210-06 |40,0009 x 10% x 308] = 12,000
AESER =Y 76,626 41,426 35,200
ASEXS XY 62,400 27,200 35,200
1. 8BRS AR I Y 62,400 27,200 35,200
7h WHEA P 18,000
1) 99 g% 210-01 |5,0009 X 61% x 48] = 1,220
2) Abdkul 2] 2 %) 9] 210—-06 |50,000€ x5 x 203] = 5,000
3) AXdE S 210-06 |40,0009 x 253] = 1,000
4) A7 210-07 |800,0009 % 43] = 3,200
5) An] 210—-12 8,000 x 207 x 48] = 640
6) 7FAIn 210-12 |3,000¢ x 207 x 48] = 240
7) A& n) 210-15 30,0009 x 2078 x 28] = 1,200
8) ¥ AL A 5,500
7hH 258w 620-03 |3,000,0008= 3,000
) =skw 620-03 |2,500,0009= 2,500
v S EA A A w A A 37,400
1) dAS AL 37,400
7H %%k 620—03 |21,800,000¢ x13]= 21,800

23




718 AEdEHIA
b R R LR (25 - A4
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
) Zew 620—03 |15,600,000¢ x13]= 15,600
o LS EA G SR o) 8 4,000
1) S98x 210-01 |50,0009 X 10% % 43]= 2,000
92) A A= 210-01 |5,0004¢ X 40%-x 23] = 400
3) Ak (L) 1,000
7hH 71E 210—-06 |160,000€ X 1% x 43]= 640
) %3z 210-06 |90,00091x 1 x43]= 360
4) 98 210—06 10,0009 X 3w X 2A] 3k x 4 8] = 240
5) ZHAH] 230—02 |3,00091 X307 x 48]= 360
2}, 3§ EA] Aboln] 3,000
1) 220-01 |20,0009 x1108]= 2,200
2) T 220—01 40,0009 x203]= 800
gEFdE o gF U A B A ¢ 14,226 14,226 0
1. et E g aexd 14,226 14,226 0
7h tRE st b A S S 1,226
1) ¢ g% 210-01 |50,0009 x 8%= 400
2) Ak (LD 280
7hH 7)1 & 210-06 |50,0009 x4 = 200
) x3} 210-06 |20,0009 x4 = 80
3) 918 210-06 |14,000¢) x 3] x 8] k= 336
4) 7+201) 210-12 |3,00091 709 = 210
uh O R A g st 12,000
1) 331 210—15 930,000 x12%= 11,160
2) U EH] 210-15 |70,0009 x 127 = 840
o S0l & W v g 1,000
1) S98x% 210-01 |50,0009 X 20%= 1,000
HAZA 2,014,240 2,302,798 288,558
AR 132,521 132,472 49
SR E AR 131,096 131,061 35
1. LAR 47389 1,096 1,061 35
7k RARAAS 496
1) S98=% 210-01 |50,0009 x 2% = 100
W = FolBlETeus - BaFA - B3ide] - urdde

24




7128 AEZEY A
719y A ek Ak S 9 g (29 - A4
Z (e} =]
Bop Ry 3;‘“ ?}g jg PRSI B—A A o] 20239 (A) | 2022€(B) | $%(A-B)
2) Ak (L) 250
7h 71 E 210-06 |160,0009x 19 = 160
W} 23 210-06 |90,0009 x 1= 90
3) Yduw 210-06 [14,000€ x 2] X 24| 7k= 56
4) 7+414) 230-02 |3,000€1 x30% = 80
L s R L B BA R VA 3 600
1) == A= 210-01 |5,0009 X 10%x128]= 600
2. olET ol TS 130,000 130,000 0
7b olE v A S w2 130,000
1) 28% 62003 |70,000,0004= 70,000
2) By= 620-03 |60,000,0004= 60,000
Q.ﬂ;ﬂ_%_ﬂ,\g;ﬂ.ﬂ 1,425 1,411 14
1. g =E7 200 186 14
7h EE AL A o
1) e94= 210-01 |10,0009 x5%= 50
2) AXGS = 210-01 |10,0009 x 15t = 150
2.} AFHIFHAF LS 1,225 1,225 0
AT R 2 R ol 1,225
D A+ 210-06 |100,0009 x 107 = 1,000
2) & 9] 3 230-02 |15,0009 x 159 = 225
F2 77 1,881,719 2,170,326 £288,607
EIAEE 1,806,988 1,571,246 235,742
L 42533+ 2,330 2,330 0
7F st A A A AR 1,080
1) A=Az 210-01 |3,0009 X 86%-= 258
2) 73R (L) 450
71 782 210-06 |100,00091 x 17 x 33| = 300
) =3 210-06 |50,0009 % 17 x 38| = 150
3) Y8 210—06 |14,0009 X 37} X 2A] 7k x 33] = 252
1) 7+211) 230-02 |3,0009 x 407 = 120
S A= R RS 1,150
1) 393 230-02 |15,0009 %109 = 150
S — FoldxSS5 S — EAFA — F43Y - sugded 25




718 AE4E WA
AR B e S S s S RS (F - 1Y)
woipy B3| T3 | 0T Agvle %5 ek 2023W(A) | 20224 (B) | Z7HA-B)
2) FEn) 310—01 |50,000€ X 107] 3L x 23] = 1,000
. e & A=A A 100
1) BH5EuR 210-01 |50,0009 x 2% = 100
2. A An =Y 1,338,660 1,191,217 147,443
7 424 620—-03 |66,654,0009= 66,654
U 253w 620-03 499,089,000 = 499,089
t}. S5t 620-03 315,933,0009= 315,933
g pE=sky 456,984
1) 29 620—-03 |357,475,0009= 357,475
2) AFY 620—10 99,509,000 = 99,509
3. $5E 228X Y 323,403 255,769 67,634
7 x4 620—03 |14,040,0009= 14,040
U, 2S8ky 620—-03 |95,258,0009= 95,258
o}, e 620—03 |49,985,0009= 49,985
2} s 164,120
1) 29 620—03 |149,083,0009= 149,083
2) AF 620—-10 |15,037,0009= 15,037
4, A AEAERY 122,995 102,330 20,665
7F 629 620—-03 |5,631,0009 = 5,631
U =58 620-03 45,423,0009= 45,423
o}, 3w 620-03 |29,126,0009= 29,126
o pZsn 42,815
1) 29 620—03 |33,528,0009= 33,528
2) AFY 620—10 |9,287,000¢ = 9,287
5. St F4] 2Kk} A ) 19,600 19,600 0
VA=A PR R RE) 620—-03 |2,450,000¢ x 8t} = 19,600
st FA A MA 74,731 599,080 A524,349
1. R FA7)FAA T2 74,731 599,080 £524,349
7h A7 T A) 48,731
1) 2538w 620—-04 |33,261,0009= 33,261
2) =& 620—04 |15,470,0009= 15,470
L 52 A A @ o 5t 26,000
WH - O EFTTUS — BAFA — S22 3 - Stu g s

26




718 AE A5 A
71389 AebE EXIR S A 9 (& - "4
o 1=]
gopzg 22| B3| 2% NERTE = SN 20239 (A) | 20224(B) | 274 (A-B)
1) $3xYEr g% 26,000
7H A)Adn] 620—04 |26,000,0009 X 14]= 26,000
S A A X L Ha 4,901,388 4,659,618 241,770
st $gn| x4 4,901,388 4,659,618 241,770
S w-ggdn|x ¢ 4,901,388 4,659,618 241,770
1. 87| 229 4,494,676 4,659,618 A164,942
7F 8429 620-02 |526,736,0009= 526,736
U 2538k 620—02 |2,325,005,0009= 2,325,005
t}. Fstw 620-02 | 1,642,935,0009= 1,642,935
2. st 7| ehe-9nxd 406,712 0 406,712
7}, ngehG g A A 150,000
1) 429 620—03 |42,308,0009= 42,308
2) 2538w 620—-03 |50,000,0009= 50,000
3) Z38kw 620—03 |38,461,0009= 38,461
4) 1587 620-03 |19,231,0009= 19,231
L wstg ol A A 256,712
1) 258w 620—-03 |35,000,0009= 35,000
2) 1538w 620-03 |221,712,0009 = 221,712
sty Aol AMA 6,776,129 11,246,678 A4,470,549
S A QA 6,776,129 11,246,678 74,470,549
A EFEE 536,083 966,124 £A430,041
1. 2455 504,451 966,124 A461,673
7k rtE A SE AT EH 504,451
1) AAH] 420-03 |496,959,0009 x 14 = 496,959
2) A Ron] 420-05 |1,600,827,0004 X 0.468%= 7,492
2. =3 AEEEA 31,632 0 31,632
7h FAT =T EAEA 15,816
1) A An) 420-02 |14,473,0009 X 8.0744%= 1,168
2) AlAdn] 420—-03 |14,473,0009 X 1%= 14,473
3) Al X n) 420-05 |14,473,0009 X 1.208%= 175
o AT s T ke g 15,816
1) A7Am] 420-02 |14,473,0009 X 8.0744%= 1,168
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7137 AR SnA= DA R (F - 1Y)
gopny o4 | =4 AT LR =) S 2023d(4) | 2022d(B) | Z7(A-B)
T A | A | A B ] e - - o
2) AlAn] 420—-03 |14,473,0009 X 1%E= 14,473
3) AR n] 420-05 |14,473,0009 x1.208%= 175
St A EANA 6,240,046 10,280,554 24,040,508
1. A=A 2,198,059 7,466,209 A5,268,150
7}, vl R 2= 301,395
1) AAm] 420—-02 |280,405,000€ X 6.766%= 18,972
2) A4 280,405
7hH EEx 420-03 ]20,350,0009 X 11.5%] = 234,025
W) zdx 420-03 |15,460,0009 x 34 = 46,380
3) A Hon] 420—-05 |280,405,0009 X 0.72%= 2,018
(B 204,032
1) A An] 420—-02 [190,910,000€ X 6.1374%= 11,717
2) A]An) 190,910
7H F3¢x 420-03 [11,230,0009 x 24 = 22,460
) #otxz 420-03 |11,230,0009 x 152 = 168,450
3) Al 420-05 [190,910,0009 X0.7355%= 1,405
o}, H-H 5 A 1,334,121
1) A An] 420—-02 |1,264,690,0009 X 4.931%= 62,362
2) AAn) 1,264,690
7h 25 x 420-03 |25,810,0009 x19.5% = 503,295
W Ex 420—-03 |25,810,0009 x 54 = 129,050
o) 2"z 420-03 |25,810,0009 x 134 = 335,530
2h) WAdZE 420-03 |25,810,0009 x11.5% = 296,815
3) Al 420-05 |1,264,690,0009 X 0.559%= 7,069
ot ST H S =T A 86,088
1) A An] 420—02 |78,245,0009 X 9.047%= 7,078
2) Al 78,245
hH EEX(EEEA 420—-03 2,770,000 x 3.54 = 9,695
W) SEx(AE95) 420-03 ]2,010,00091 x 8.5 = 17,085
h 2z (AR 420-03 |3,840,0009 X 104 = 38,400
2h) A F (A EYE) 420-03 |2,010,0009 X 6.5 = 13,065
3) Al X ) 420—-05 |78,245,0009 X 0.978%= 765

FTuF - AN - stwA AN - A
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7|8 AEZ5 UG A
AR A B R S ) ks R R (2] = 9
74 o) 1=
gopzg 22| B3| 2% AR %A% AU 20234 (A) | 2022d(B) | Z7HA-B)
ul, 718k 272,423
1) A4 272,423
7h BEZ(NUAAESFUBFAZEH) | 420-02 30,923,000 x 12 = 30,923
W A%z (B9 328 A AL B E ) 620-04 |241,500,0009 x 12 = 241,500
2. QA A 118,535 254,259 A135,724
7}, W) 118,535
1) A A 420-02 |108,270,0009 X 8.596%= 9,307
2) Al%dn) 108,270
7H ez 420-03 18,020,000¢ X 2.54 = 20,050
W F5x 420-03 8,020,000¢ x 241 = 16,040
) FIFx 420-03 [8,020,0009 x 34 = 24,060
) Aotz 420-03 |8,020,0009 x 621 = 48,120
3) A|AEfH] 420-05 108,270,000 X 0.884%= 958
3. BAIAAEANA 106,651 42,534 64,117
7 S 7R 106,651
1) A An] 420-02 |97,270,00091 X 8.734%= 8,496
2) AlAdH] 97,270
7}) A olnlo] g2 Y 420-03 |1,370,0009) x 222 = 30,140
) FAx 420-03 |1,370,0009 x 2241 = 30,140
o BA= 420-03 [1,370,0009 X274 = 36,990
3) Al H-tfiv] 420-05 |97,270,0009 X 0.909%= 885
4, A A ANA 946,815 1,774,405 A827,590
7F AEAA 17,808
1) A4 17,808
7hH Edx 420-01 [4,0009 x550.9m'= 2,204
W ez 420-01 |4,0009 X 2,674m'= 10,696
th) Rtz 420-01 |4,0009x1,227m'= 4,908
(B SRR I RA 215,050
1) WX sH 7} 215,050
7 5% (1,434m) 420-02 |25,672,0009 X 14]= 25,672
W) BAx(2%,1,562m) 42002 |34,299,0009 x 14 = 34,299
) % %(2%,1,602m") 420-02 |29,486,0009 x 14 = 29,486

SwAEAAND — FaA BN - S AN

A
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PS4 (9] ")
o) 1=
?};3 fg AR o =A% A& o 20234d(A) | 2022d(B) | E#(A-B)

2h) Z¥ % (848m) 420-02 121,840,0009 x 14] = 21,840

uh) FH%(1,207m) 420-02 |30,088,000¢ X 14 = 30,088

vh) %9kx(1,531m') 420-02 125,672,000 x 14 = 25,672

Ab) T35 (27,405m) 420-02 23,039,000 x 14 = 23,039

o}) x1Qk%(1,240m’") 420-02 24,954,000 x 14 = 24,954

oF A (A ) A 129,484
1) A A 420-02 [118,410,0009 X 8.485%= 10,048
2) Al%dn) 118,410
7H B9 % (2 A £ 3 420-03 |15,289,0009 X 2.54= 38,223

W) Hekze]a 420-03 |26,729,0009 x 34 = 80,187

3) Al E ] 420-05 [118,140,0009 x0.868%= 1,026
t}. Seloju| E 560,768
1) A A 420-02 |525,917,0009 X5.9159%= 31,113
2) A1Adn] 525,917
7 2l s X (=gelH| EwA]) 420-03 |21,466,0009 x 142 = 300,524

W) FAx(EgoHERA) 420-03 |21,466,0009 x 64 = 128,796

th) XA F (Eekol v E L A]) 42003 |21,466,0009 x 4.5 = 96,597

3) Al -t 420-05 |525,917,0009 X 0.7107%= 3,738
up A 23,705
1) A A 420-02 |22,231,0009 x5.9159%= 1,316
2) A7) 22,231
7h FQEAY 3L 420-03 |22,231,0009 x 12]= 22,231

3) A AFv] 420-05 |22,231,0009 X 0.7107%= 158

5. 9|23 A A 1,419,185 428,735 990,450

7}, 5 178,627
1) A A 420-02 |164,250,0009 X 7.969%= 13,090
2) Al%dn) 164,250
7H BEAE 420-03 |730,0009) % 225m'= 164,250

3) Al F-of 8] 420-05 |164,250,0009 X 0.783%= 1,287
v &4 164,116
1) AAH] 420-02 |150,660,0009 X 8.1229%= 12,238
2) Al7dn] 150,660

St Al AN - St A AN - St Al S A
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dEE R ESENER
713 - S ek S 93 (k9] : x4
2 o) 1=

gopzg 22| B3| 2% Aol %A REXE 20234 (A) | 2022d(B) | F7HA-B)

NEE R 420-03 |558,0009 X 80m= 44,640

W) Aoty 420-03 |558,0009 X 190m= 106,020

3) A AR ojn)] 420-05 |150,660,0009 X 0.808%= 1,218

L= S 103,666

1) A AH] 420-02 |94,500,0009 % 8.779%= 8,297

2) A]An 94,500

7 WA= 420-03 |378,0009 X 200m= 75,600

) 2y 420-03 |378,0009 X 50m= 18,900

3) AJ A ojn)] 420-05 |94,500,0009 X 0.919%= 869

2t % 679,950

1) A A 420-03 |638,500,0009 X 5.7968%= 37,013

2) A AN 638,500

N EEx 420-03 |338,0009 X 400m'= 135,200

W) Fex 420-03 |338,0009 X 600m'= 202,800

oh 2= 420-03 |22,0009 x 600m'= 13,200

) = (AA) 420-03 |338,0009 X 850m'= 287,300

3) A Ao 420-05 |638,500,000€ X 0.6949%= 4,437

vl @ FAZ WA 43,811

1) AAm 420-02 |40,250,0009 % 7.736%= 3,113

2) Al 40,250

h EEx 420-03 |115,000 x 200m= 23,000

W) 2= 420-03 |115,0009 x 150m= 17,250

3) A] A 420-05 |40,250,0009 % 1.115%= 448

v, B E R 94,958

1) AAm 420-02 |87,880,0009 x7.111%= 6,249

2) A4 87,880

b A= 420-03 |338,0009 x 260m'= 87,880

3) AJ A ojn] 420-05 |87,880,0009 X 0.944%= 829

A}, E=AA ) 124,057

1) A A 420-02 |115,200,0009 x6.816%= 7,852

2) Al 115,200

7h) zetx 420-03 |8,0009 x4,600m' = 36,800

AE - follxFeud — StuAdAANA — SwAENA - SurdEF A

31




718 AE4E WA
AR B e S S s S RS (9] -
2] =0 [$) H
Bopnm j};’ ?}g jg Apeiu el == e 20239 (A) | 20224(B) | E7(A-B)
W FHE 420-03 |8,0009 X 4,350m' = 34,800
th) FotA 3 420-03 |8,0009 % 2,450m'= 19,600
2}) upg = 620—04 |8,000€ % 3,000m'= 24,000
3) A]AHon] 420—-05 |115,200,000€ X 0.873%= 1,005
o}. 71E} 30,000
1) A]An)] 30,000
7 Aotz (LS AEQAME) 420-03 30,000,000 x 14 = 30,000
6. A7 ANA 69,676 152,579 282,903
7t 2 A4 (LED) 69.676
1) AAn] 420—-02 |63,155,0009 X 9.292%= 5,869
2) A4 63,155
7H FAx 420-03 ]5,210,0009 x2.54= 13,025
W) 2AZ 420-03 |2,760,0009 X 12.54= 34,500
o) Xkl 420-03 |5,210,0009 x 341 = 15,630
3) Al B ) 420-05 |63,155,0009 % 1.032%= 652
7. AAANAUA BTS2 51,855 0 51,855
7h A A S A 51,855
1) 3% 620—04 |4,840,0009 x 12]= 4,840
2) = 620—04 |7,300,0009 x 14 = 7,300
3) A5z 620-04 2,400,0009 x 14] = 2,400
4) =8 x 620—04 |6,790,000¢1 x 14]= 6,790
5) ZQkFotx 620—04 |2,200,000¢] x 14 = 2,200
6) T3F= 620—04 |1,500,0009¢ x 14]= 1,500
7) vhE = 620—04 |4,160,0009 x 14 = 4,160
8) zgkelz 620—04 9,525,000 x 14 = 9,525
9) zer= 620—04 |1,525,0009 x14]= 1,525
10) XkAd 620—04 |11,615,0009 x 14 = 11,615
8. A MA 502,549 119,299 383,250
7}, s A 502,549
1) A Am) 420-02 |470,610,000€ X 6.067%= 28,551
2) A]Adn) 470,610
7h FAx 82 FA) 420-03 |104,580,0009 x 0.5 = 52,290
LE - fohd2FEuS — AR AN - StaAAAN - StrA AR
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At & LA & A= 2023d(A) | 20229 (B) | SH(A-B)
W) ek 420-03 |104,580,0009 x 42 = 418,320
3) A A H o) 420-05 |470,610,0009 X 0.72%= 3,388
9. IR AVIEAZ 826,721 0 826,721
7t QAZEA LS A F NS 826,721
1) A]An] 420-03 [826,721,0009 x 121 = 826,721
89,745 85,985 3,760
89,745 85,985 3,760
HADEHLY 34,560 36,960 £2,400
HAgEFLY 34,560 36,960 22,400
1. Q&R LIRS 34,560 36,960 22,400
A R e e R R A Rt 34,560
1) $98= 210-01 |50,0009 X 20% x 1275} = 12,000
2) ZAApS=r 210-06 |40,0009 X 2417k % 208] X 127 = 19,200
3) ZFAFA B A ) 210-06 |10,0009 x 127 x 203] = 2,400
4) 7+24) 210-12 |3,0009 X80 x 48] = 960
55,185 49,025 6,160
A B 55,185 49,025 6,160
1. 3FEAAREAES 30,000 30,000 0
7 . BT 430-01 |15,000€ x2,000A= 30,000
2. g EAR5ALGA Y 8,200 8,200 0
7F S 8= 210-01 |50,0009 x 20%= 1,000
B - PPN = 210—-02 |300,0009x12¢¥= 3,600
o -4 K] 210-09 |300,0009 x 129 = 3,600
3. ZZEABEFHALY 8,700 8,625 75
7F S 2,010
1) $98x 210-01 |50,0009 X 10% x 28] = 1,000
2) A=A = 210-01 10,0009 x 10 x 23] = 200
3) A (Qduh) 210-06 |40,0009 x 278 x 88 = 640
4) Z3AFA ] 7 ) 210-06 |10,000¢ x 83| = 80
5) 7FA1H] 210-12 13,0009 x15% x 23| = 90
v SRS 1,960
1) S98= 210-01 |50,0009 X5% x 43]= 1,000

=2
Ho
o
El
Ho
ot
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AF Y e == A= AEUe 2023d(A) | 20229 (B) | TH(A-B)

2) A=A 2 210-01 |10,0009¢ X 4%-x 48] = 160
3) ZAAFE (L) 210-06 |40,0009 x 47 x 45| = 640
4) Z3ARAH] 7 1) 210-06 10,0009 x 43]= 40
5) 7H21H] 210-12 |3,0009 X 10 x 43| = 120
b =X o) g 2,920
1) $98= 210-01 |50,0009¢ x 8% x 48] = 1,600
2) A2 A2 210-01 |10,000¢) x 8%-x 43]= 320
3) AT (LD 210-06 |40,00041 x4 x 63 = 960
4) ZFA}An] 7 ) 210-06 |10,0009 x 43]= 40
et =AM EEsE A 690
1) 98 210-01 |50,0009 x 10% = 500
2) A=A = 210-01 |10,0009 x 10%*= 100
3) AT (LD 210-06 |40,00091 x 19 x 23] = 80
4) ZXAFA R ) 210-06 10,0009 x 13]= 10
R e R 1.120
1) $98= 210-01 |50,000€ x 4% x 38| = 600
2) A (dHh) 210-06 |40,0009 x 47 x 33] = 480
3) ZHARAn] A ) 210-06 10,0009 x43]= 40

4. TFE=ABINNA L 8,285 200 8,085
7). R E 210-01 |12,00091x15% x 129 = 2,160
U SA 3 ) 210-02 |180,000¢ X 3F= 540
o} An) Yo Eh) 210-03 |200,0009 x 1= 200
2 ARA 4 3,780
D A EFE 210-01 |70091x2,100¢= 1,470
2) MARCY &) zHo] 8- 210-15 |1,1009%2,100¢= 2,310
b EA 29 282 1,605
1) A5 210—06 100,000 x 47 x 38| = 1,200
2) 393 230-02 |15,000€ x99 x38] = 405

kA 6,123,639 2,585,503 3,538,136

5,443,266 1,073,212 4,370,054

7,500 7,500 0

718 %2 5,000 5,000 0

W - 2 8n] A2 — w57 A 7] e
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718 AE4E WA
AR A B R S ) ks R R (& - "4
2 o 1=]
gopzg 22| B3| 2% ESIE SRR NN 2023(A) | 20229 (B) | Z7(A-B)
1. FoYFAgFHFA 5,000 5,000 0
7} w82 3 3,400
1) ¢8> 210-01 |50,0009 X 5% = 250
2) A5 A2 210-01 |5,000€ X 300%= 1,500
3) AESY 210-06 |40,0009 X 67 x 38] = 720
4) 893 230-02 |15,0009 %67 x 28] = 180
5) 7F21n) 310-01 |3,000¢ x 2507 = 750
U Fo g At 210-01 10,0009 X 80 x 28] = 1,600
AEHAZTH 1,500 1,500 0
1. ¥ ST HAPEATE 1,500 1,500 0
AR IRTA A P A=A | e 1,500
1) A=A 2 210-01 |5,0009 X 300% = 1,500
Bl A B A B 99 1,000 1,000 0
L. B3 tiu] Al & Y R Qe 200 200 0
7h A &qbd k=g 200
1) $oa=x 210-01 |50,0009 x 4% = 200
2. 2AHZTAE 800 800 0
7} o 210-01 |50,0009 x 4= 200
. 7k 230-02 |3,0009 x 40 x 58] = 600
AP 52 5,180 7,180 22,000
ZHAL g 5,180 7,180 22,000
1. A A 600 720 A120
7}, A A o) AR 9o Z=nk 210-06 |40,00091 x 61 = 240
. A g2 250-04 |5,000€ x 3% x 248 = 360
2. PR AEZA} 800 800 0
7}, A=A = 210-01 10,0009 x 80%-= 800
3. o= 4 2 o) A 73} 3,780 5,660 21,880
7b HEAggaA s 2,800
1) $oda=x 210-01 |50,0009 x 2 x 23] = 200
2) W&7n] 210-01 |35,0009 X 307 x 23] = 2,100
3) Ak (dRh) 500
7hH 71E 210—06 |160,0009x 17 x23]= 320
WS - WY - WS Y LN — AP ] - Ak
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o) 1=
o AERE %A% RENE 20239(8) | 2022\ (B) (A-B)
) z3t 210-06 90,000€ x 17 x 23] =
v B AR A A
1) A=A = 210-01 |8,000€ x 100%-=
th FH-sole%
1) 893 230-02 |15,0009 %6 x 23] =
71871 =2 7 6,094 0
71 &2 8 w5 7} Az 1,828 0
1. 28y 71#F71L ALY 1,828 0
7h HA LA 7}
1) A 7H A A 2 5270
7H A=A 2+ 210-01 |6,300¢ x 80%-=
2) AHAF7Ee A3
7 o 8= 210-01 [17,0009 X 6% x 23] =
) Zalg=g) 210-06 100,000 x 4% x 28] =
o) A A n] 7] 210-06 20,0009 x 49 x 23] =
EIBEPARE) 230-02 [8,0008 %107 x 28] =
PRYANEEA 4 4,266 0
1. 2B H 92733} 4,266 0
7]. 6]—’76“X4ﬁj—x] OJT%O
) SAgFE 210-01 |50,0009 x4%=
2) AT (AR
7hH 71 & 210-06 |160,0009 x 1% =
W) =3 210-06 90,0009 X 1% X 24 7k=
3) 91w 210—06 |14,000€ X 37 X 34 7k=
4) 393 230-02 |15,000¢ x 20 x 28] =
U, AR AT Z 32992 Y 240-01 |1,000,0009 x 37§18l =
TS A A B A A H] A 4,543 307
AEPF P RAI AL F 3,343 307
1. A2"E# L 3,343 307
7F At S A
1) $98x 210-01 |50,0009 X 5% x 48] =
2) PCS g 210-01 |50,000€9 X 2% x103]=
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o NERTE = SN 20239 (A) | 20224(B) | 274 (A-B)
3) QJEL&SWTY 210-01 |15,0009 x 2% x 107} = 300
L ARG H] A B 1,350
1) H/WHA R 210-13 |16,870,700¢ X 8%= 1,350
ISPA 72 EA 1,200 1,200 0
1. 71Z2ERERATES 1,200 1,200 0
7h 75 1,000
1) HEgE 210-01 |50,0009 X 10% x 23] = 1,000
L 7| SE e A S 200
1) 998 210-01 |50,0009 X 4F= 200
=) 900 900 0
o] Ak -3 900 900 0
1. X533 AGNFHYFR 900 900 0
7}, A=A = 210-01 |15,0009 X 60% = 900
3,814,708 281,018 3,533,690
T &AL EZEFAT 3,814,708 281,018 3,533,690
. ZZ8AAHRY 3,540 2,960 580
7V ARGV ST 210—01 |500,000¢ x13]= 500
v AR ) 5] 2,320
1) $ojg= 210-01 15,0009 x 3% x 43| = 180
2) FX 5o 210-06 |100,0009 x 47 x 43]= 1,600
3) & 9] 3 230-02 |15,0009 X127 x 33]= 540
o}, A FEn) 250-04 |60,0009 X173 x129= 720
2. ¥ A A AT 3,714,802 200,379 3,514,423
7}, # me) 210-09 |8,000,000¢ x 17} .= 8,000
. ) mkel e A 3,706,802
1) A2H] 420-03 |3,654,995,0009 x 12]= 3,654,995
2) 7ran) 420-04 |3,654,995,0009 X 1.0858%= 39,686
3) A A X n] 420-05 |3,654,995,0009 x0.33161%= 12,121
3. BEF#YgFFA 46,745 53,245 26,500
7}, AR 27 HHE = 46,745
1) 429 620-03 |7,575,0009 x 17} .= 7,575
2) xEdw 620-03 |9,820,000¢ x 27} 1 = 19,640
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718 AE A5 A
AR B e S S s S RS (F - 1Y)
woipy B3| T3 | 0T Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
3) =& 620—03 |9,765,0009 X 27} .= 19,530
4, FEA 7 16,000 6,000 10,000
7F S A YA 210—-15 |3,000,000¢ x 14]= 3,000
L. wpol F et el 210-15 |3,000,0009 x 14 = 3,000
o}, == 7)) 620—-03 |5,000,0009 X 27} 5= 10,000
5. 7] EFA) A Q] 12,950 0 12,950
7h EA (%) 410-01 |12,950,0009 x 13]= 12,950
6. LA TA A ZTA 3]0 20,671 18,434 2,237
7}, w8 TA A B A 3] 1) 210-02 |20,671,0009= 20,671
&2y 1) 2] A & 1,436,344 581,337 855,007
A H 2] A 2 B 1,436,344 581,337 855,007
1. 282X 9 1,384,468 542,619 841,849
7h Bk kA WS 1,000
1) $98= 210—-01 |50,000€ X 7% x 28] = 700
2) A (g 300
7} 7] 8 210—06 |100,000¢ X 17 x 23] = 200
W) 23 210-06 |50,00091 x 1 x 23] = 100
U, AA s Az 210—-07 |399,756,0009= 399,756
o}, B8 AT 430-01 |680,000,000¢9= 680,000
2} B A 620-03 128,112,0009= 128,112
ub, A7) AZFAA A A A 420—-03 |83,000,000¢ x 2tf= 166,000
v, A A oA 110-03 | 120,0009 x8038] = 9,600
2. I EEA Y 51,876 38,718 13,158
7}, B A ] A Y 620—-03 |51,876,0009= 51,876
7884 10,370 8,870 1,500
SH = 3ol g 6,930 5,205 1,725
1. 87899933 3,930 1,205 2,725
7h St el ddT 3,930
1) $98= 210—-01 |50,0009 X 12% x 23] = 1,200
2) 2FE A= 21001 |13,00091 % 304 x 23] = 780
3) Ak (dRh) 500
7hH 71E 210—06 |160,0009x 17 x23]= 320
TE - SYN - ZSIAAN - wFFY - FHEUFR S
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7188 AE4E WA
78 AR R LA A (9] - 212
Z )
Fof i Z‘jé ?};3 ﬂjﬂ: AFAH S S-A5 AEeg 20239 (A) | 20229 (B) | TH(A-B)
) =3 210-06 90,0009 x 17 x 28] = 180
4) A= 210-07 |700,0009 x 1th= 700
5) @93 230-02 15,0009 x 257 x 23] = 750
2. SR HA G5 Y 3,000 4,000 21,000
7b SR EAFUE A Y 3,000
1) $dax 210-01 |15,00091x 10% x 108]= 1,500
2) 93 230-02 10,0009 x 157 x 23] = 300
3) 2H] 310-01 18,0009 x15% x103]= 1,200
T5FH A= 3,440 3,665 ~225
1. TS EPA YR A7 2,990 2,990 0
7F S AHE ALY 2,990
1) $dgx 210-01 |50,0009 x 8% x 23] = 800
2) 2pE A= 21001 |10,00091 % 3% x 23] = 60
3) Al 210-06 |100,0009 x 77 x 23] = 1,400
4) 2 2] A 210-06 20,0009 x 71 x 23] = 280
5) &< 3 230-02 15,0009 x 157 x 23] = 450
2. 25X 4P nSEY XL 450 675 A225
7F YA A 450
1) ¥2)3 230-02 |15,0009 X 157 x 23] = 450
Al AL &3 157,320 175,770 £18,450
A EAI 2 157,320 175,770 218,450
1. AEAI 22 9 157,320 175,770 A18,450
7}, SF A A 157,320
1) 2eA 210-09 |137,655,00091= 137,655
2) WA B g 210-13 |18,495,0009)= 18,495
3) A A En) 420-05 |1,170,0009= 1,170
799 680,373 1,512,291 831,918
71829 457,247 515,269 A58,022
71 B B-$-o3H) 457,247 515,269 258,022
L. 7| 245520 32,460 30,200 2,260
7h 718719 A ) 32,460
1) 71338 A G 580 250-02 |400,00094 x 12¢= 4,800
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Abej el A-REpS -1 K=l 2023 (A) | 2022€(B)
2) 71 B FF7u] 230-01 |23,100,0009= 23,100
3) A °J7}/<_?jljr—%iﬂ ] 230-03 80,0009 %574 = 4,560

2. FA71 22970 135,316

7k a5#] 2 3 28,824
1) LnEL-on] 7,024
7h) B 210-01 |1,200,0009 = 1,200
) el 210-01 |416,0009 x 143 = 5,824
2) EZ0] A1) 210—05 |8,000¢ x 147 x253]= 2,800
3) B9 7 210-15 |400,0009 x 129 = 4,800
DEREE 40,600
7h ) 220-01 20,0009 X 147 x503] = 14,000
) =4 220-01 40,0009 x 14 % 303] = 16,800
h %9 220-01 |70,00091 X 147 x 103] = 9,800
5) A2 FH38) A1) 250-02 |100,0009 x129= 1,200
6) 53723l 2,400
7h BALS () g2 250-03 |80,0009 x 18 x129= 960
W) B () gy 250-03 |60,00091 %19 x129= 720
) Sund (RSP RE)HTTFd | 250-03 60,0009 x 18 x 1249 = 720
L At 76,492
1) 4Rk n 12,016
7h B 210-01 |1,200,0009 = 1,200
) el 210-01 |416,0009l x 267 = 10,816
2) Eu 2] 210-05 18,0009 x 267 x123]= 2,496
3) B9 An) 210-15 |400,0009l X 12¢= 4,800
DEREE 46,020
7h ) 220-01 20,0009 X267 x 313] = 16,120
) = 220-01 |40,00091 X 26 X 203] = 20,800
h %9 220-01 |70,00091 x 267 x53]= 9,100
5) ARG H53 A 250-02 |100,0009 x129= 1,200
6) 545730 9,960
7h AAatd i 250-03 |150,00091 % 3% x 12¢ = 5,400
W) A ST 250-03 80,0009 x 2% x 129 = 1,920
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MK (el - A )
1=]
o Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)

) IAAGF T 250—-03 60,0009 x 2 x 129 = 1,440

2} St x| g 250-03 100,000 x 173 x 12€ = 1,200

3. 7| B¢ 97N 180,814 248,406 A67,592

7h. ZA 5,760
1) Fol7n| g 210-13 |350,0009x 129 = 4,200
2) CCTVS9 210-13 |130,0009 %129 = 1,560
L, ARE- 7 H] 11,601
1) =4 210-01 |10,000€ X119 x63]= 660
2) A=A 210-01 |19,0009 x 1009 = 1,900
3) Yy ETE 210-01 |10,0009 x30% X 129 = 3,600
4) 333w A 210-09 [1,241,0009 x13]= 1,241
5) 3 A ZH] A B 210-09 |350,0009 % 128 = 4,200
o} ARA 500
1) A8k ke 7] SAL 500
b el eE 210-01 50,0009 X 10%= 500

oh, Ak 19.183
1) &85 (25,000kmo]4) 210-10 |9,135,0009 X 1t}= 9,135
2) o FH A (10,000kmeo] ) 210—10 |10,048,000¥ X 1= 10,048
v, gALE 65,834
1) 3]&n) 210-03 |250,0009 X 74 x 23] = 3,500
2) AAPA A BEGX] B2 210-09 |3,877,0009 x 129 = 46,524
3) BALSA RS 210-09 |450,0009x 129 = 5,400
4) 2HPA] A QLA A A 8o 210-13 |235,0009 %129 = 2,820
5) A7)erAA 74 210-13 |200,0009x 129 = 2,400
6) HFol A= g ol 210-13 |378,0009 x 53] = 1,890
7) A uo)E ot A g 210-13 |110,000¢1 x 128 = 1,320
8) Aot R ] 9 B84 210-13 |165,0009 x 123]= 1,980
vp ARF SR 7R (387 % A7) 16,850
1) AFE A 430-01 |1,050,0009 x 4t = 4,200
2) A T E 430-01 |250,000¢ x 18t = 4,500
3) ZAUE] (A3, Z W) 430-01 |850,0009) x 1= 850
4) ZYE (A4, 5) 430-01 |450,000€ x 4tj= 1,800

— 718y - 7187 g 41




42

)
Abd ] < A5 s 202349 (A) | 2022€(B) (A-B)
5) AL EHEX (UPS) 430-01 2,500,000 x 1v)= 2,500
6) 7HY 430-01 |300,0009 x1074= 3,000
Ab AHFE N (52 ) 3,520
1) AEAEY 430-01 |3,520,0009 x 1t = 3,520
o}, F-FokE 210-01 |10,000¢ X 20% x 23] = 400
2 AARZRE R 210-02 |100,0009 % 207 = 2,000
2t & & m LA A 55,166
1) d7e+ 210-02 |3,066,5009 x 129= 36,798
2) A3to = 210-02 |800,0009 x12¢= 9,600
3) AL F 210-02 |116,0009x 129 = 1,392
4) $HQ 210-02 60,0009 x12¢= 720
5) oA 210-02 23,0009 % 65) x 129 = 1,656
6) SHANAF G 210-02 |100,000¢] x 23] = 200
7) QI E] Y1 E AN 210-02 |400,0009 %129 = 4,800
4. 71EbNHE L9 33,497 39,505 276,008
7}, vlo)| £ & ek 33,497
1) Quk$odn 210-01 |416,0009= 416
2) Tfjodn) 220-01 [20,0009 X1 x223%]= 440
3) 71 #9An 32,641
7h & aLAA 8,400
(1) A7a+ 210-02 |600,0009 x129= 7,200
(2) Az 210-02 |70,0009 x 129 = 840
(3) Astrew 210-02 |30,0009 x129= 360
L) Al el A 24,241
(1) =AAAFSE 210-01 |10,000¢1 x 43]= 40
(2) 2vrebA ] 23] h) 210-01 |50,000€l x13]= 50
(3) A7) A AR 210-01 |471,0009 % 13]= 471
(4) AN SA RS 210-09 [1,500,00094x12¢¥= 18,000
(5) At H & 210—13 |100,0009 x12¢¥= 1,200
(6) A7 8 210-13 (80,0009 x 129 = 960
(7) WA 1= 210-13 160,000 x 53] = 800
(8) AstzxH 2 210-13 |300,000¢l % 13]= 300
HEGH] - 718729




7188 AEdE5WAA
718 - AR Xt SA 4 (k9] - 4D
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
(9) F+a4u & 210-13 |110,0009 x129= 1,320
(10) A7k BFEAE =) 210-13 |550,0009 x 28] = 1,100
5. EX I EGFF] 9,560 9,560 0
7}, A ukg-od ) 2,376
1) 7139 210-01 |800,0009= 800
2) M= 210-01 |394,0009) x 47 = 1,576
E w4 1) 210-05 |8,0009 x 4™ x 678 = 2,144
o}, FA] 23 AAn] 210-15 |100,0009 x129= 1,200
] 2,640
1) I 220-01 20,0009 x4 X 143]= 1,120
2) =4 220-01 [40,0009 x4 X 63]= 960
3) & 220—-01 |70,000¢] x4 x 23] = 560
ul, W F o] B3 A 250—-02 |100,0009 x 129 = 1,200
6. =X A7 EF-F 3| 29,090 30,170 21,080
7}, ANk ] 640
1) 574 210-01 |160,0009 x4 = 640
U 32T LA 14,180
1) A7l + 210-02 |900,0009 x 129 = 10,800
2) A3} F 210-02 |150,0009 x12¢¥= 1,800
3) AstrEo 210-02 |100,0009 x 129 = 1,200
4) XS 210-02 10,0009 x12¢¥= 120
5) A RFHIR 210-02 |50,0009 x 47 = 200
6) AR B E 5 210-02 60,0009 x 13]= 60
o}, A4 g fA b 3,000
1) AAAH A RS 210-09 |250,0009 x129= 3,000
I PARURC) 11,270
1) ¥&n) 210-03 |250,0009 x 17 = 250
2) 7R A 210-07 |65,0009 x12¥= 780
3) AAGFA RS 210-09 |220,00091x12¢¥= 2,640
4) A7)+ A7 g 210-13 |100,0009 x 129 = 1,200
5) &AAIAEJIAH A8 210-13 |150,0009 x 129 = 1,800
6) -l AN &< 210—13 |200,0009 x12¢= 2,400
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71@E AEZEYAA
719 - A E R E 479y (ko] - 2 <)
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 20234 (A) | 2022d(B) | F7HA-B)
7) 771k A A4 210-13 |200,0009l x 39 = 600
8) A|ArAAA 210-13 |500,000¢ x 23] = 1,000
9) BEIFH A 210-13 |300,0004€ x 23] = 600
7. GOl A DS AE L 36,510 36,400 110
7h FoIAI A AR 36,510
1) 71824 H 36,510
7hH B Ee D 9,200
(1) P F=ARARALS AN | 210-01 |200,0009 % 13 = 200
(2) L99= 210-01 |50,0009) X 18% x 43]= 3,600
(3) A=A = 210-01 |15,0009 X 60%-= 900
(4) =jon] 2,300
b 4 220-01 |20,00091 X 5% x 153]= 1,500
b =4 220-01 40,0009 X 5% x 48] = 800
(B5) 7| E A FF21] 230—01 [100,000€9 x103]= 1,000
(6) AAFAL53 0] 250-02 |100,0009 x 1238] = 1,200
W) 33w BAA 14,760
(1) A7)+ 210-02 |1,050,000¢91 x12¢¥= 12,600
(2) Azo 210-02 |160,0009 x 128 = 1,920
(3) Ao+ 210-02 |20,0009 x 123]= 240
o) Al ] e 12,550
(1) ARS8 210-01 |50,00091 x53]= 250
(2) A7 AAASFSE 210-01 |250,000€ x 13]= 250
(3) A2 ey 210-09 |600,000€l x 129 = 7,200
(4) FolAn| &< 210-13 |110,0009 x12€= 1,320
(5) A71rAA AL 210-13 (80,0009 x 129 = 960
(6) WArEgo 210-13 |150,0009 x 33]= 450
(7) 2 A A A A4 210-13 (80,0009 x 129 = 960
(8) Aatx=H 2 210-13 |200,000€ x 13]= 200
9) AF71A & 210—15 |80,0009x12¢¥= 960
ASFA 7| BAA 223,126 997,022 AT773,896
71 BA) A €A B 223,126 997,022 A773,896
1. A5 LA 223,126 997,022 AT773,896
W - AFA - VAR - AT IAAE - T A F A e
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AR A B R S ) ks R R (k9] - d4d
o 1=]

gopzg 22| B3| 2% Aol %A ENE 20234 (A) | 2022d(B) | F7HA-B)
7]_ A o].cxﬂ%:;:/}j 223,126
1) A AN 420-01 [209,160,0009 x5.973%= 12,494
2) Al 209,160
71 A SA 420—03 |104,580,000¢ x 24 = 209,160
3) AR 420-05 |209,160,000¢ X 0.7035%= 1,472

2,095,082 1,697,371 397,711

2,095,082 1,697,371 397,711

2,095,082 1,697,371 397,711

2,095,082 1,697,371 397,711

flo1 7| 2,095,082 1,697,371 397,711

AETEAYA AN B 2,095,082 1,697,371 397,711
7F. v 3 Q17 n] (G o A 21,840
D 715 110-04 |1,167,50090 x 129 = 14,010
2) 21 110-04 |140,0009 x129= 1,680
3) HAFIIRAF 110—04 |700,000¢ X 23] = 1,400
4) A7) 110-04 150,000 x 23] = 300
5) Ax5F 110-04 50,2909 x169= 805
6) W3] E 2)n) 240-02 |550,0009 x 1= 550
7) HAAYE 320-12 [1,5617,0009 x 1= 1,517
8) 4t PV ARG+ 320-12 [13,920,0009 X 11.33%= 1,578
U}, B Ak R © A} 297,204
1) 718+ 110-04 934,000 x16W x10¥= 149,440
2) &4 110-04 |209,1379 %164 x10¥= 33,462
3) 41 110-04 |140,0009 X164 x 109 = 22,400
4) 7VEd 110—-04 |71,4289 %144 x10¥= 10,000
5) WAF/IR A 110—04 |700,0009 %167 = 11,200
6) A7)+ 110-04 |225,0009 X164 = 3,600
7) 4bZ3] H 2 1) 240-02 [600,0009 x16%= 9,600
8) A AYZE 320—12 [1,973,87094 %169 = 31,582
9) 4R 7| AH 320—-12 |14,298,3009 X167 x11.33%= 25,920
ok LA A }mu} 1,156,424
1) 718 110-04 |1,868,0009x26™ x129= 582,816

718F — 14| — Q13A8] — ZEAQIAE] —
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] [$) H
BolHE 3; ?};3 fg Apel el %A A&yl 20233 (A) | 2022 (B)
) &5 110-04 |584,500€9 X267 x 129 = 182,364
3) F24H) 110—04 [140,0009 X269 x129= 43,680
4) V&3 110-04 |56,9239 %26 x 129 = 17,760
5) WAFIIHR AL 110-04 |700,000€ X 26%4 x 23] = 36,400
6) A7+ 110-04 |450,000€ x 267 x 23] = 23,400
7) ARG 110-04 |2,077,4619 %26 = 54,014
]) ul=3] 1 2 n) 240-02 619,230 X267 = 16,100
9) FlrAHYZ 320-12 3,612,8849 %26 = 93,935
10) AR 7| R+ 320-12 35,968,10049 X267 X 11.33%= 105,955
2}, ghshad Eabel 7] 49,388
D 715 110-04 |1,868,00091 x 12¥ = 22,416
2) &5 110-04 |760,5009x12¢8= 9,126
3) F24H) 110-04 [140,0009 <129 = 1,680
4) JAZFIIR A 110-04 |700,000€ x 23] = 1,400
5) A7+ 110—-04 450,000 x 23] = 900
6) I HI} 110-04 |160,080€ X 20A]7t= 3,202
7) AxG 110-04 |106,7209 %239 = 2,455
8) uk=3]H 2 n) 240-02 |550,0009 x 17 = 550
9) FrAYZ 320—-12 |2,996,00091 x 1= 2,996
10) AR 7| AR+ 320-12 41,156,0009 X 11.33%= 4,663
vl v sk AN (F A A %) 35,352
1) 718+ 110-04 1,868,000 x12¢ = 22,416
2) F2H) 110-04 [140,0009 x12¥€= 1,680
3) WAS/IR A 110-04 |700,000¢ x 23] = 1,400
4) 2R SG 110-04 [15,0009 X817k x13%= 1,560
5) Axg 110-04 |1,350,0009 X 19 = 1,350
6) 714 F 110-04 |150,0009 %23 x 1% = 300
7) @EE E 2| 240-02 |550,0009 x 1= 550
R) Bl rAYZ 320-12 3,030,000 x 1= 3,030
9) ARV A F I 320—12 |27,060,0009 x 11.33%= 3,066
HE. Wee Al B AF3] 35 2] AFQI 2 H] 45,638
1) 7185 110-04 12,068,000 x 129 = 24,816

718F — 13H] -
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gopmm BH | =AM TR CH L RENE 20239 (A) | 20224 (B)

STEL A | AR | AK B T e " -
) &5 110-04 [429,0009 x12¢8= 5,148
3) F24H) 110-04 |140,0009x129= 1,680
4) V&3 110-04 (80,0009 x129= 960
5) WAEZIIHE A 110-04 |700,000¢ x 23] = 1,400
6) A7+ 110-04 |450,000€ x 23] = 900
7) 2R SG 110-04 |18,6479X50A%t= 933
8) Axg 110-04 |134,506€9x159= 2,018
9) g3 B A | 240-02 |750,00091 X 19 = 750
10) g§rA8+ 320-12 12,863,2009 x 1% = 2,864
11) AR 7| AR+ 320-12 | 36,788,0009 X 11.33%= 4,169

Ab Wee Al E A &78 &A1 2 H] 85,529
D 71+ 110-04 |2,068,0009 %2 x12¥= 49,632
2) &5 110-04 |273,0009 X2 x129= 6,552
3) F41) 110-04 [140,0009 x 29 x 129 = 3,360
4) 7V&E5G 110-04 (70,0009 X2 x12¢= 1,680
5) HAZ7IE A 110-04 |700,0009 X 21 x 23] = 2,800
6) A7+ 110-04 450,000 x 24 x 23] = 1,800
7) 2R 110-04 [17,5269 %27 X 50A]7k= 1,753
8) Ax5 110-04 [104,9049x 29 x 15U = 3,148
9) 43 H 2)n) 240-02 650,0009 x 27 = 1,300
10) 7= &+ 320-12 12,703,6009 x 2 = 5,408
11) 4R 7| AR+ 320—-12 |35,728,000¢1 X2 X 11.33%= 8,096
of. 73w 8 2 2l 7in) 129,717

D 7135 110-04 [2,211,66094 %39 x 108 = 66,350
2) &5 110-04 |184,3009x 394 x10¥= 5,529
3) 41 110-04 |140,000¢1 X3 x10€= 4,200
4) 2R SG 110-04 |977,6609 X34 = 2,933
5) WAS/IR A 110-04 |2,211,660¢ x 3% = 6,635
6) AxFt 110-04 1,855,000 x 3% = 5,565
7) 71eFr 110—04 |5,279,0009 x 39 = 15,837
8) uk=3] H 2)n) 240-02 |596,0009 x 3% = 1,788
9) §rAYZ 320-12 3,153,0009 x 3% = 9,459

71eF — 18] — 18] — FEARRIAY] - WSFFAA71]
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] [$) H
gopzg 22| B3| 2% Aol %A REXE 20239 (A) | 20224 (B)
10) 4171 AHG= 320—12 |33,601,0009 %34 x11.33%= 11,421
2. v kg el zin) (8 1) 236,250
1) 7135 110-04 |1,168,0009 X149 x9g= 147,168
2) F2H) 110-04 |140,00091 X 149 x99 = 17,640
3) WAS/IRAFE 110-04 |700,0009 x 149 = 9,800
4) A7 110-04 |150,0009 x 149 = 2,100
5) Ax5eg 110-04 |51,0009 X149 x10Y= 7,140
6) 4r==3H 2)n) 240-02 |670,0009 x 147 = 9,380
7) B RAYF 320-12 |1,600,0009 x 147 = 22,400
) ARV AF I+ 320—12 [13,000,8009 X 14 x11.33%= 20,622
2k, m sk 1] (A ) 22,323
D 7135 110-04 1,167,500 x 12€ = 14,010
2) F24H) 110-04 |140,0009 x12¥= 1,680
3) HAZIIE A 110-04 |700,000€ x 23] = 1,400
4) A7+ 110-04 150,000 x 23] = 300
5) Ax 110-04 |51,0009 X169 = 816
6) Yk=3] H 2)n) 240-02 |550,0009 x 1% = 550
7) B R AYF 320-12 1,505,0009 x 1= 1,505
8) At 7| AR+ 320-12 18,195,0009 X 11.33%= 2,062
7} Znl ] (A ) 15,417
1) 7185 110-04 |700,5009 x12¢ = 8,406
2) 211 110-04 |140,0009 x12¥= 1,680
3) WAES/IR AT 110-04 |700,0009) x 23] = 1,400
4) A7 110-04 |150,000¢ x 28] = 300
5) Ax}4oF 110-04 (32,3309 x16%Y= 518
6) &3] E 2)n) 240-02 |750,0009 x 19 = 750
7) R A 320-12 968,0009 x 1= 968
8) AR/ AR T+ 320-12 12,304,00091 X 11.33%= 1,395
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